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const int MAXN=1e5+5,mod=1e9+7/;

struct BIT
#define lowbit(x) ((x)&(-x))
int c/MAXN];
void add(int pos,int v

pos<MAXN
c/pos/=(c/pos|+v)%smod;
pos+=lowbit (pos);

int query(int pos
int ans=0;
pos
ans=(ans+c|pos| )%smod;
pos-=lowbit (pos);
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ans;

void clear(){mem(c,0);
treel,tree2;
int query(int L,int R
int ans=treel.query(R);
L)ans=(ans-treel.query(L-1)+mod)%mod;
ans;

void add(int L,int R,int v
tree2.add(L,v);
tree2.add(R+1,mod-v);

int a/MAXN!,pw|/MAXN|,6s|[MAXN];
int main

int n=read int();

_rep(i,1l,n

alil=read int();

pwibi=L1;

_for(i,1,MAXN

pw/ i pwli-1]<<1)%mod;

rep(i,1,n
int vl=query(l,alil),v2=query(alil,n);
v1=1LL*v1*pw/n-1i|%mod;
v2=1LL*v2*pw|n-1i|%mod;
add(alil,n,vl);
add(1l,alil,v2);
treel.add(alil,pw/i- ;

_rep(i,1,n
s(i|=tree2.query(1i);
treel.clear();
tree2.clear();
int i=n;i;i--
int vl=query(1l,alil),v2=query(alil,n);
v1=1LL*v1*pw/|i-1|%mod;
v2=1LL*v2*pw|i-1]%mod;
add(alil,n,vl);
add(1,alil,v2);
treel.add(ali!,pw/n-1i]);

_rep(i,1,n
sii|=(s|i|+tree2.query(i) )%mod;
int ss=0;

_rep(i,1,n-
ss=(ss+1LL*(n-i)*pw(n-i-1])%mod;
_rep(i,1,n
enter((ss-s[i/+mod)%mod) ;
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